

$n-1,$

V

$-V$

$$\frac{n(n-1)}{2}$$

$$\frac{n(n-1)}{2}$$

$n-2,$

$$\frac{(n-2)(n-1)}{2}$$

\square

$\pm -$

$\pm -$

1.

$X^T AX$

$\pm -$

$n \geq 3,$

$\pm -$

$n-2.$

A

P

$X^T (P^T AP) X$

A

A_{12}

$A_{1k} = 0$

$k \geq 3.$

$\pm -$

V

$W,$

$$V^T AV = W^T AW = 1,$$

$$: V_1 = 1 \quad W_1 = -1,$$

$$: V_2 = W_2 = 1.$$

$V' \quad W'$

$V \quad W$

$\$W\$$

$$: V'_1 = -1, W'_1 = 1.$$

$$V'^T AV' < V^T AV$$

$$W'^T AW' > W^T AW.$$

$V' \quad W'.$

$d_1, \dots, d_n,$

$$A + \text{diag}(d_1, \dots, d_n) \quad n-2.$$

$$B = \frac{1}{1 + d_1 + \dots + d_n} (A + \text{diag}(d_1, \dots, d_n)),$$

$$\pm - \quad X^T A X, \quad n-2. \quad \square$$

1

:

2.

$A \quad n \geq 2$

$$d_1, \dots, d_n, \quad (n-1)-$$

$$A + \text{diag}(d_1, \dots, d_n).$$

$$\{uA + \text{diag}(d_1, \dots, d_n) \mid u, d_1, \dots, d_n \in \mathbb{C}\}$$

$$x^n + F_{n-1}x^{n-1} + \dots + F_1x + F_0 = \det(-uA + \text{diag}(x - d_1, \dots, x - d_n)),$$

$$F_k \quad u, d_1, \dots, d_n.$$

$$F_{n-1} = -d_1 - \dots - d_n - u \text{tr} A.$$

$$, \quad n \geq 2 \quad \mathbb{C} \quad n+1$$

$$F_{n-1} - u = 0, F_{n-2} = 0, \dots, F_1 = 0 \quad \check{u}, \check{d}_1, \dots, \check{d}_n.$$

$$, \quad \check{u} = 0. \quad F_0(\check{u}, \check{d}_1, \dots, \check{d}_n) = \dots = F_{n-1}(\check{u}, \check{d}_1, \dots, \check{d}_n) = 0.$$

$$\text{diag}(\check{d}_1, \dots, \check{d}_n) \quad x^n.$$

$$\check{d}_1 = \dots = \check{d}_n = 0. \quad \check{u}, \check{d}_1, \dots, \check{d}_n.$$

$$, \quad u \neq 0.$$

$$u = 1. \quad d_1, \dots, d_n$$

. \square